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Chickengunyaisa:

(A)\, Hereditory disease
B eficiency disease

(C) Pakhogenicdisease

D) Congdpital disease -

Tick the word thay, is not synonym of the given
word Deplorable?

(A) Admirable
B) Disgraceful
(O) Dishonourable

(D) Unforgivable

Tick the word that is an antonym of the givén

word Wickedness : N/

(A) Baseness B) Dishonestyr" k
//

(C  Virtuosity O Corrupﬁon

He was so stubborn and __ that the
parents gave up the hope his reformation.

(A)  Intractable
(B) Innocent
(C) Intuitive

({O) Unorganised

InIndia wh%p’fx act prohibits child marriage ?
@) Sh;.{;da Act

B) arriage Act

{C)/ Child Labour Act

) None of the above
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Which one among the following industries is the
maximum consumer of water in India ?

Textile (B) Engineering

© aperand Pulp () Thermal Power

7. Which program¥ e was launched to ensure women
safety by Haraya®a government ?

(A)  Operation Dur
B) Operation Kali
(C) Operation Gauri

(D) Operation Bharavi

8. A sum of money doubles itself in 12 years. Inthow
many years would it triple itself ?

A) 36years B) 18years

©) 24years D) 15years

9. Which one of the alternatives will r¢place the
question-mark (?) ?

JD, KF, 7. PM, TR
@) M
© NI

10. Rajan remembergfhat his elder brother was born
between 13tF afd 16th April while his mother
remembers thdt he was born after 14th April and
before 17th Xpril. If the statements of both are
considered/orrect then on which date of April he
was bor ‘

® 18
™ 15
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11.

12.

13.

14,

15.

16.

The meaning of the word ‘economic’ is most closely
associated with the word :

(A) Free ®)
() Unlimited D)

Scarce

Unrestricted

In a free enterprise economy, the problems of what,
how and for whom are solved by ?

(A) aplanning committee
B) producers
(©) consumers

(D)  the price mechanism

Elasticity of demand refers to:

(A) Responsiveness of demand to a change in
Pprice

(B) Responsiveness of demand to a change in
income

(C) Responsiveness of demand to a change in
the price of a related product

D) Alltheabove

In drawing an individual’s demand curve for a
commodity ‘X, which one of the following are not
constant ?

(A) Individuals moneyincome

(B)  The price of the commodity ‘X’

(C) The prices of other related commodities
(D) The taste of the individual

When the price of a substitute of commodity
X falls, the demand for ‘X’ :

(A) Falls

(B Rises

(C) Remains unchanged
D) Anyofthe above

If from a position of stable equilibrium, the market
supply of a commodity decreases while the market
demand remains unchanged. then :

(A) the equilibrium price falls
(B) the equilibrium quantity rises

(C) both the equilibrium price and the
equilibrium quantity decrease

D) the equilibrium price rises but the
equilibrium quantity falls
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17.

18.

19.

20.

21.

22,

Which one of the following contributes highestin
the country’s GDP ?

{A) Primary sector with agriculture
B)  Secondary sector with industries
(C) Services Sector

D) Primary and Secondary Sector combined

When total utility increases, marginal utility
18 :

(A) Negative and Increasing
B) Negative and declining
(C) Positive and declining
D) Zero

If an indifference curve is horizontal to ‘X’ axis
this would mean that :

{A) MRSXY equals zero

B) MRSXYisone

{©) MRSXYisgreaterthanone
D) MRSXYislessthanone

Who among the following gave the cardinal utility
approach to consumer behaviour ?

(A  Alfred Marshall (B) J.R.Hicks
© JA Schumpeter (D) R.G.D.Allen

If resource endowments and technology remain
unchanged, and output of X increases, what would
be the shape of production possibility
curve ?

(d) It will be concave to the origin

@ It will be linearly downward sloping
(C) It will be horizontal

(D) Itwill be positively sloped

The optimum level of cutput for a perfectly
competitive firm is given by the point where :

{A) MRequalsAC

B) MRequalsMC

(C©) MRequals MC and MC is rising

D) MRexceeds MC by the greatest amount
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28.

Which one of the following is not the
subject-matter of macro economics ?

(A)  Price determination of a commodity
B) Tradecycle

(C) Unemployment

(D) National Income

In monopolistic competition, we have :

(A) Few firms selling a differentiated product
B) Many firms selling a differentiated product
(©) Many firms selling a homogeneous product

(D) Few firms selling a homogeneous product

‘What is’ related to :

(A) Normative economic analysis
(B) Positive economic analysis
(C) Staticeconomic analysis

(D) Dynamic economic analysis

The equation C=20+0.90 yd predicts that
consumption is ;

(A) 90 when disposable income is 100
(B) 100 when disposable income is 90
(€} 110 when disposable income is 100
(D) 180 when disposable income is 200

The labour force includes :

(A) Those who are employed and unemployed
(B) Those who are employed

(C) Those who are of working age

(D) Theentire population

In a two sector model, when saving is —40+0.20
yd and investment is 60, equilibrium outputis:

@ 100 ®) 400
© 500 ©) 1000

31-Economics

23.

26.

27.

28,

fFpeifera 3 9 11 fohea wufie stdwre i fawgesg
@ e?

@) I F FHd o Fuim

(B) TARTH

(€ S
O T A
TSIy Yiaaifm &

@ FO I AAE A gu TG A @
®) &g 9 FH AE-sTer S S B
© ¥Ed H H T S gy et ©

O) F° FA TF S oy S §

‘Y Y P

@) et i faveqm |
(B) arfaw sTfdw favevo &
© g anfiw favevm §
©) AT i vy

iR C =20 + 0.90 yd sl & fa 3usi
@) o9ovaRwddTam 1008
® 100¥afcEd dra s 00 R
© 110¥aIR G I A 1007
@) 180 ¥Rk wd dra 3@ 200 ®

g9 wifew d e ®

@ AN IR ¥ SRR R
® AMITWHR

© ANFEFAHRFHL
O g SEen

% fedsia yfeeq § 99 999 — 40+0.20 yd 3R
fafeim 60 ®, Wgfea semea €

A 100 ®
€ 500 D)

400
1000

P.T.O.



29,

30.

31.

32,

33.

When an increase in government spending is
matched by an equal decrease in government
transfers, output will :

{A)  increase B)
(CO) remainthe same (D)

decrease

any of the above

The Phillips curve shows :

{A)  aninverse relationship between the real and
nominal wage

(B) aninverse relationship between the rate of
inflation and the rate of unemployment

({C) apositive relationship between the nominal
wage and the rate of unemployment

(DY  apositive relationship between the rate of
inflation and the nominal wage

According to the quantity theory of money :

(A) anincrease in the nominal money supply
causes a proportional increase inreal GNP.

(B) anincrease in real money supply causes a
proportional increase in the price level.

(C) anincrease inthe real money supply causes
a proportional increase in real GNP.

(D) anincrease in the nominal money supply
causes a proportional increase in the price
level.

Which of the following statements isincorrect ?

(A) The precautionary demand for money is
unrelated to income.

(B) There is a precautionary demand for money
because of uncertainty about the receipt of
future income.

(©) The precautionary demand for money is
affected by the opportunity cost of holding
m; balances

(D) There is a precautionary demand for money
because of unexpected expenditures

Who among the following did not estimate the
incidence of poverty in India ?

{A) B.S.Minhas

B) P.K Bardhan

() Dandekar and Rath
(D) Raj Krishna
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34.

35.

36.

37.

38.

In the Cobb-Douglas production function the
elasticity of substitution between factors is :

&) zero ®)
(C) greaterthanone (D)

equal to one
less than one

Inflationary gap arises in Keynesian employment
theory :

(&)  before full employment
® atfullemployment

(©) after full employment
(D) none of the above

The Laffer curve explains the relationship between
which of the following ?

(A) Taxrateand Employment
B) TaxrateandIncome
(C) Taxrate and Tax revenue

(D) Taxrate and Public expenditure

Match List :
Economist Concept/Theory

(a) RagnerNurkse (i) Backwash effects

(®  RosensteinRodan (i) Theoryof
unbalanced
growth

{© Gurnar Myrdal (@il The bigpush
theory

@ Hirschman (iv) Theory of
balanced growth

Correct combination is :
Code:

@ (b @© @@
@ G @ O
® @ v o o
© @ @ O @
O © @ @ )

Which of the following institutions providing
finance to the industrial sector was set-up in India,
first ?

(A) Industrial Credit and Investment
Corporation of India

B) Industrial Finance Corporation
{C) Industrial Development Bank of India
(D) Reserve Bank of India
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39.

40.

41.

42,

43.

44.

456.

Which economist first suggested imposition of
expenditure tax ?

Ay J.R.Hicks
(© N.Kaldor

B) Dalton

D)

Samuelson

[f median and mode of a set of observation are 20.6
and 26 respectively then what is the value of mean
of the observation ?

A 16
© 184

17.9
19

®)
)

Lorenz curve enables one to study which of the
following ?

(A Average
©

®
™

Dispersion
Correlation Tax rate

Fisher’s ideal index number satisfies which one of
the following tests ?

(A) Chi-square test

B Timereversal test

(C) Factorreversal test

) Both time and factor reversal tests

Which one of the following relationship is true ?

A) AM.>Median>Mode
B Median> AM > Mode

(©) Mode >Median>AM.
O) Median>Mode>AM

The sum of squares of deviations of different values
from their arithmetic mean is:

@) ®
© Onme )

Minimum Maximum

Zero

Which of the following measures of dispersion is
based on all the item values of the series ?

(A) Range

(B)  Quartile deviation
(C) Standard deviation
M None of the above
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46.

417.

48,

49,

60.

b1.

62.

Which of the following combination of measures
of central tendency can be calculated easily using
graph of the distribution ?

A Meanand Median

B) MeanandMode

(C) MedianandMode

D) Geometric Mean and Median

Which of the following is a positional value,
dividing the distribution in two equal parts ?

(A) Anthmeticmean (B) Median
(© Mode D) Geometricmean

Coefficient of correlation is independent of which
of the following 7

(A) change of origin

(B) change of scale

(C) change inparameters

(D) changein origin and scale both

Two regression lines are perpendicular to each
other when?

@A r=0

r= -

1
© 3

Head quarter of World Trade Organisation is
located at:

(& Geneva ®
) WashingtonD.C. (D)

Paris
Hague

Which of the following is the basis of the Ricardian
theory of comparative cost ?

(A)  Supply and demand theory
(B) Marginal utility theory

(C) Labour theory of value

(D) Factor endowment theory

What does an increase in the ratio of revenue deficit
to gross fiscal deficit indicate ?

{A) anincreaseininvestment

{B) anincrease in imports

{C) anincrease in foreign direct investment
(D) anincrease in utilisation of borrowed funds

for revenue purposes
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53.

54.

55.

56.

57.

b8.

According to the Heckscher-Ohlin theory of
international trade, the reason of trade is:

(A the difference in cost of production
B) the difference in technology

(O)  the difference in factor endowment
(D) the difference in transportation cost

Which type of demand for money depends on rate
of interest ?

(A) transaction demand

B) speculative demand

(C) precautionary demand
(D) banking sector demand

Which of the following is not included in money
supply by RB1 ?

(A) currency with the public

(B) all deposits of commercial banks
(C) other deposits with RBI

(D) postoffice saving deposits

What does Harrod call to ‘highest attainable
growth rate’ ?

{A) Naturalrate of growth

B) Goldenrateof growth

({C) Incremental rate of growth
(D) Feasible rate of growth

Which of the following is the basic cause of cyclical
unemployment ?

(A)  ageneral deficiency in the demand for goods
and services

(B) the reluctance of workers to move to other
parts of the country where there is work

(C)  theinability to change occupations because
of lack of skills

D) worker’s ignorance of opportunities of

employment in other occupations and
districts

In the classical theory of output and employment,
neutrality of money means :

(&) money does not affect monetary variables
in the economy

(B) money does not affect real variablesin the
economy

() money does not affect real and monetary
sector both

(D) money may affect both the sectors
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b9.

60.

61.

62.

63.

64.

65.

Economic planning relates to the :

(A) Foreigndirectinvestment
(B Mobilisation of taxes
(C) Allocation of resources
+ (D) Planning of human resources
As per the 14" Finance commission

recommendation the state’s share in the net
proceeds of union tax revenue is :

Ay 2% B) 38%
O 42% Dy 44%

Arrange the following deficits as percentage of GDP
in descending order :

(@  Revenue deficit
()  Fiscal deficit
€)  Primary deficit
@ e, @

B (o). (b} (a)

©  (a).d), ()

D) (). (), ()

Highest share of subsidies given by Central
Government of India is given for :

Ay Food

B) Fertilizers .
(C) Petrol, Diesel and LPG
(D)  Education and Health

Indian economy is:

Ay Market economy

(B) Centrally planned economy
(Cy Capitalist economy

(D) Mixed economy

To obtain full benefits of demographic dividend,
what should be done in our country ?

(A reducing infant mortality rate

(B) privatisation and extension of higher
education

(C) introducing more social security schemes

(D) promoting skill development

‘Economic planning’ relates to the :

(A) Mobilisation of taxes

(B) Allocation of resources

{C) Foreign Direct Investment

(D)  Planning of man power
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59.

60.

61.

62.

63.

64,

65. -

et

afefen eTrST wafeyE §

@) TR vaw fafmm 4

B) U HUHAROY

(C) drEl % amEeT g

(D) 9Ha gEE % A |

14 3 fau s &) fowfe & o7Er FE =
T &1 Y5 39 H T w1 e ®

A  32% B) 38%

€ 42% D) 44%

1 oz el o St & witea & 9 3 92 g
w4 U ogafeyd Y :

(a) USE HE

()  TTHINE =eT
(© Wl =
A (b)) @
B (). (). (@)
© (@),
M () (a)(c)

HRA H F% TR g0 99 SISl H fysan um
W%‘Tﬁf%

(A) WRIH

@B E A

© W, Svm sk wm st |

O fernsErE®

WReTy sfegaten §

A) ENR Ao

B) waERa AT sdesen

© efira steferaean

@) Tufaa sd=Een

Hifpea ae & 7o @19 | 9w FE F e,
AR 39 A T T i afed ?

@ Ry e TR

® =t # s ok famn

(© AR sAfuw g qan aremst #1 IRy
D) I e/ H D

anrfefer e grafea €

(A U HTEHEY

@) W ¥ aEEA 9

(€ Tavn v fafand 9

(D) W wig & e

P.T.O.




66.

67.

68.

69.

70.

Narsimham committee is related to :

(7] Agricultﬁe reform

(B) Educationreform

(©  Financial sector reform
(D) Labourreforms

As a proportion of GDP, expenditure on education
in recent years in India is :

(A) around 3 percent
{(B) around 5 percent
({© lessthan2percent
D) 6.3percent

Deen-Dayal Upadhaya Grameen Kaushal Yojana
isa:

(A)  Skill development scheme for rural workers

(B) Placement-linked skill development scheme
for rural youth

(©) Imsurance scheme for rural skilled workers

(D) Skill development schcme for rural

agricultural labourers

The new foreign trade policy 2015-20 aims to
increase India’s exports to :

A) US$600bllion by 2019-20
B) US$ 900 billion by 2019-20
(C) US $ 1000 billion by 2019-20
O) US$1200billion by 2019-20

National Income in India is estimated by :

(A) Planning Commission

(B) National Sample Survey

(C Finance Ministry of India
Central Statistical Organization

O

~00o-
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66.

67,

68.

69.

70.
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@ w49 3 wiovE

®) H09 5 giawm

© 2 yfase @ g

D) 6.3 9fawa

AT ITEATT AHI HiTTed F15r1 €

@  TTH SR & s <em fam e

® 7o gane F fad wieie 9 99 g s
o et

(© T S HER % fod <t g

O U S Aegl & ol <ar far A

Tt fa<e =R AT 2015-20 %1 Ryg wRd %1 frafa
G E :

(&  2019-20 T 600 faferaT US SR o
B  2019-20 T 900 faferma US Sier o
(€ 2019-20 9 1000 fSfe™ US sier 7
@  2019-20 7 1200 feifera US sfer 7
TR § T AT 1 AT o 2
(A A SR
® T o weam
© R4 %1 faq 5™
D) FEr gfeasa e
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